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*Ex tiig oranieminiic dvadbaews 6y Sedopmévav 1o mlvaxog mpoxdmrowy al xa-
e Tl tédv xpremplawy  «Z» xal «t» 7od  Fisher, 1
1) ‘H mpdy 100 «Zb o) werpdpxtog loobran: pé: 2,22, 4 8t miud Todvou #x .
v mvdcav tob Fisher 8 1& P=0,001 loobtar put 1,169.
©2) 'H nph ol «tn Sid P=0,01, loobrar ué 2,947 xal B.Z.A= - 0,162.

Hror b rrelpope dmodewnvder, Guv 7o YiPBepeAAixdy nddi. Eoxe Oetixdv. Enidpaciv énl 7ol
‘?&P‘_{UC ‘r'rlc payéds, adffjoav Tolto, Evavit Tob pdprupos,. dmd 77 o)o mepimov elg Thv
“"7\1)'\' tnéuBacty  (dvrixelpevoy W) Ewg 147 o)o xal 160 o)o elg Thy  SimAfiv xal tpimATiv
Wbty (dvrikelpeve W, xal W), & 2
- Zuyxplvovtes Suwg Ty oThingy ,«Ata?op& Bdpovg. o)o Evavtt. pdprupogn Tob
mhaxog I1 ud oy admhy othiny wob mivaxoe 111 napatnpdpey, 6Tt Smdpyet onpavri-
*) depopd  elg v atfnow tob PBdpovg énl Tol adtod dvmixewévow: W,. Obtw elg tdv
E‘(""W 11 # tnl mréov aiEnoig Tob Edpouq T&v otaguAdy, St Thy amAfiv St Gibrel
"‘I‘B}GW, dvépyerar elg 34,28 o)o, évp elg Tdv mivaxa ITI 4 érl mhéov Swagpopdk, 313
ki a0td dvtixelpevoy, dvépyetar el 77,01 o)o. Anrady # aifyoic tob: Pdpoug TdY oTa-
Py By elvar dvdoyog, Tig adfhsemg 105 Bhpovg THG payds.
Tolto tov v& d&modobf elg 7o pixpdrepov péyetog Tév oTagurdy 7ol dvrixer-
Bhvou W', el word cuvémerxy zpc' v pixpbrepoy dptbudy paydv.
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RN 51.78 47.82 47.17 47.89 48.91 47.07 290.64
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